PRz FERTRD 5

5776 DItz Rk X,

fig 2 KooK > T, 57|76
Koo, &3 100 +y L% 5,
Stepl z= ZRD 5,
12=1,2%2=4,32=9, 42 =16, 52 = 25, 6> = 36, 7> = 49,

82 =64, 92 =81, LEZX T, 2 =7 2% %,

Step2 y ZRKD 5,
5776 — (70 + y)?
= 5776 — (4900 + 2 * 70y + y2)
=876 — (140y + y?)
=876 — (140 + y)y

y 12 0,1,2,3,4,5,6,7,8,9 # ATLTHRT, y=6 2% %,



fit> T, 5776 DT 76

M 395641 OFHR%Z KD X,

fit 2 KioIC XYl > T, 39]56/41
Ko, &l 1002+ 10y +2 £ 5,
Stepl z= ZRD 3,
12=1,92=4,32=9, 42 =16, 52 = 25, 62 = 36, 72 = 49,

82 =64, 92 =81, LIBAT, 2 =6 2375,

Step2 y ZRKD B,

395641 — (600 + 10y)?
= 395641 — (360000 + 2 + 600 * 10y + 100y?)
= 35641 — (12000 4 100y)y

y 12 0,1,2,3,4,5,6,7,8,9 Z ANLTHT, y=2 2% 5,

Step3 z KD B,

395641 — (620 + 2)2



= 395641 — (384400 + 2 * 620z + 22)
= 11241 — (1240 + 2)z

2120,1,2,3,4,5,6,7,8,9 # ALTHRT, y=9 H5 5%,

fit> T, 395641 DF-FiHRI% 629



